
 

                                                                   Class – 3 

1.Which of the following is not a Noun? 

a. bench               b. birds                   c. new                     d. football 

2. Choose the incorrect option. 

                                                                                       

3.Choose the odd one. 

a. flying        b.sitting            c. evening               d. going 

 

4.  Choose the incorrect sentence. 

a.  I am going                                      b.  She is jumping 

c.   He is eating                                      d. You is sleeping 

 

5. Choose the correct option for ‘They’ 

  a. Simran     b. birds       c. hildren      d. duck 

 

6. What is she doing?  

flying                 eating            watering           clapping 

 

 

 

 

 

a. a tree                      b.  an elephant                

c. an kite                     d.  a cake 

 



7) Choose the odd one.  

A)  ribbon    B) middle 

C)  bench                         D) bitter 

8) Choose the correct sentence for the given picture. 

A) The children is playing. 

B) The child are playing. 

C) The children are playing.  

D) The child is playing.  

9) Choose the correct spelling.  

A) buterfly 

B) butterfli 

C) buttarfly 

D) butterfly 

10.Choose the option having letters to make the given words. 

 

a. n, g, r, o , m, e , n 

b. r, g , t, i, m , n 

c. o,  n,  g, m,  i, r, n 

d. l, g, m, n, v, o , f Choose 

11.the correct spelling. 

a. Spreed                    c. Spread 

b. Spared                    d. Spraed 

12.Choose the correct statement for the given picture. 
 

a. The cow is sitting in the tree.    

b. The cow is sitting under the tree.  

c. The cow is sitting on the tree. 

d. The cow is sitting with the tree. 
 

 

 

 

 



 


